


25/05/2020         JESUS AND MARY SCHOOL AND COLLEGE         MODULE 4
CLASS-9 (MATHS)
CHAPTER NAME– SIMULTANEOUS LINEAR EQUATIONS

Note: Module-1 is referred to the Part-1 video uploaded for this chapter on 18th May, 2020.

Topic:  To solve the equations reducible to pair of linear equations.

In our Part – 1 video prepared for this chapter we learnt how to solve pair of linear equations by using following methods:
· By using substitution method
· By using elimination method
· By using cross multiplication method 

SOLVING PAIR OF LINEAR EQUATIONS NOT GIVEN IN LINEAR FORM

Any equation written in ax + by +c = 0 form is called a linear equation. If the equations are not given in linear form our job is to change them in linear form by making sum suitable substitutions. Let’s take some examples.

Example 1: 
                   
Solution: In above two examples the equations are not given in ax + by + c = 0 form so first we will 
                 reduce them in linear form by doing some suitable substitution such as – 
 
Let  


Multiplying equation  by 4 and equation (ii) by 3, we get 


On adding equation (iii) and  we get 


Substituting  in equation  we get


Hence  

Example 2: 	
                  
Solution: Substituting   = p and  in the given equations, we get


From 


Substituting  in equation (ii), we get

Substituting  in equation (iii), we have
 q
  
   x – 1 = 3 and y – 2 = 3                                                                                                         
  x = 4 and y = 5.
Hence solution is x = 3 and y = 5.

Example 3: Solve:  

Solution: By observing these equations we note that x = 0 and y = 0 is the solution of these 
                 equations and since these equations  are not given in linear form so firstly we will convert 
                 them in linear form and to do that we will divide both equations by . On dividing by , 
                  we get                                           
 
 

Let   = a and  = b, the equations  and (ii) become 



On multiplying equation (iii) by 3 and equation  by 4, we get



Adding (v) and  we get


Substituting a = 2 in equation  we get


 = 2 and  = 3  x =  and y = 
Hence solution is   .

        
WORKSHEET-2

Q.1- Solve the simultaneous linear equations .

Q.2- Solve the simultaneous linear equations .

Q.3- Solve the simultaneous linear equations .

Q.4- Solve the simultaneous linear equations.

Q.5- Solve the simultaneous linear equations 

Q.6- Solve the simultaneous linear equations .

Q.7- Solve the simultaneous linear equations .

Q.8- Solve the simultaneous linear equations .

Q.9- Solve the simultaneous linear equations 

Q.10- Solve  Hence, find the value of k if .


Note- Please do this assignment in your copies. It will be checked when the school re-opens.
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